

$${}^s\Gamma = \underbrace{e^{-\mathbb{R}_+ \mathbb{R}_+} s^{-1}}$$

$${}^z\Theta = \underbrace{\mathbb{Z} e^{\pi i z}}$$

$${}^z\mathbf{p} = \underbrace{z^{-2} \Lambda} - \underbrace{\Lambda^{-2}}$$

$${}^z\mathbf{p} = -2 \underbrace{z^{-3} \Lambda}$$

$${}^s\zeta = \underbrace{\overline{\mathbb{N} + 1}^{-s}}$$

$$E_k(\Lambda) = \underbrace{\Lambda^{-k} \mathbb{0}}$$

$$\sigma_\ell(n) = \underbrace{\prec^\ell n}$$

$$\underbrace{z^{-2} \Lambda} - \underbrace{\Lambda^{-2}} = z^{-2} \sum_k^{2\mathbb{N}+2} \underbrace{k-1} z^k \underbrace{\Lambda^{-k} \mathbb{0}}$$

$$\frac{1}{2} \underbrace{\mathbb{Z} \tau^{-k} + \mathbb{Z}} = \underbrace{\overline{\mathbb{N} + 1}^{-k}} + \frac{2\pi i}{(k-1)!} \sum_n^{\mathbb{N}+1} \tau \underbrace{e_n^{2\pi i} \prec^{k-1} n}$$